MICROTECHNOLOGY

EVALUATION KIT SIPO3 PACKAGED OP AMPS

EK14

INTRODUCTION

The EK14 evaluation kit provides a convenient way to bread-

board circuits using Apex power op amps packaged in the 12-pin
SIP03 package. The amplifier may be mounted vertically with the
HS20 heat sink, or horizontally. Connections are provided for
required power supply bypassing, external compensation compo-
nents, as well as current limit resistors. A large area for component
mounting provides flexibility and makes a multitude of circuit con-
figurations possible.

Use the supplied thermal washers or
thermal grease between the power
amplifier and the heat sink.

ASSEMBLY

1.

On the silk screen side of the evaluation board, insert and solder
the MS06 mating socket in DUT holes 1 — 12. Be sure each one
is fully seated.

. Solder components for your circuit. Be sure to include proper

bypassing, required compensation components and current
limit resistors. See the op amp data sheet for help in selecting
these components. 1uF capacitors and a .15 Q resistor have
been included with the EK12 kit but may be replaced with other
components as necessary.

. Place the TWO7 thermal washer on the heat sink over the

mounting hole for the DUT. Place a #6 screw through the
mounting hole and thread a #6 nut onto the screw at the back of
the heat sink. Do not tighten. Note that there are two sets of
mounting holes on the HS20. Holes on one edge allow room
betweenthe DUT and evaluation board for the MS06 socket. The
holes on the other edge are for direct through hole mounting of
the DUT to the evaluation board. Itis recommended that you use
the MS06.

. Mount the DUT to the HS20 by sliding under the head of the #6

screw and on top of the thermal washer. Tighten the nut to the
specified 8 to 10 in-Ibs. (.9 to .13 N*M). Do not over torque.

. Install leads of the DUT into the MS06 on the evaluation board.

Use #6 self-tapping screws to secure the evaluation board to
the HS20 heat sink as shown in the assembly diagram (Figure 1).

PARTS LIST

Part # Description Quantity
HS20 Heatsink 1
EVAL16 PC Board 1
MS06 Mating Socket 1
OX7R105KWN 1uF Ceramic Capacitor 2
CSR10 .15 Q Resistor 2
TWO7 Thermal Washer 1 package

BEFORE YOU GET STARTED

All Apex amplifiers should be handled using proper ESD
precautions.

Always use the heat sink and thermal washers included in this
kit.

Always use adequate power supply bypassing.

Do not change connections while the circuit is powered.
Initially set all power supplies to the minimum operating levels
allowed in the device data sheet.

Check for oscillations.

B 4% H # # 886-3-5753170

Jo: 45 ) B F- (1) 86-21-54151736

JWE 4% ) WL - (5 91) 86-755-83298787
Http:

www. 100y. com. tw

O O ot O
O| [O]|0o]|of o] (o] [o]|o] (o] (o] [o] |o o ° o °
SRS —1 "FTTIEEEY e
o|[c_o][oo][o o T]9] [o of[o]|lofl|le]|e|[ofl|ellfo]|of|o]lellof o] [o| |of[e||o]le]|e]lofle]|ef|ef|o]|e||o o o o o
ool ollo olo] [0 ol[o]ioflllol lojoflo] o] oljoflo] o] lo oogggJLMEOQL
o|[6_0][c_o][c o 79] [ 11011 1 Il oI/ Bl Rllolliel o1 /B [2]73] /Bl /o] [l [2] /0] [0 [o] [ [o] [o d o o o
O[OOO]IC[O ol [offlofl[e]|o|[efl|ofl|e] [o{e]flollle] [o|lo]| |of|e||o]|of|e]|e||o o|[of|o||o
oledlfo ollo olo] [0 lollolfloflo] o] lofloflel ol lofioflel o] o] (o] lo]le]lollof[ellol o] ellolloflof | o o o o
o|[c_o][c_o][c o]o] [0 Sl EREEEEEE e sRRREE: 50
o|[c_o][co][c o T]o] [0 ollofllolllol|o|lo]llollo] |o]lololllol o] |o] [olo||o]lo|loft V'S +VE o o o 1)
o|[c_o][c_o][c o]o] [0 o] [o[lolol o] lolflofllo] o] [o]lfoflol lo] [o] [o]|o]|o]|o]|o]|° 2 |[° ©
e oJle o]l o of To[lo slielSEREEEEE Y ECEERERRERE o o
[cooo0o00000 ol |ol|[oflfo||o||o]f|o]l{of [o||o|llo]l|o][of[o| [o]|o]]o]||o]|o! m.
Lol loljloflloflo]|oflloljiof o] ojofjlof ol o] - [o] o] |o]loflof| C'{ =32 1}0
©O000D00D000O0OOOO 0000000000 OO O O [0][0][0] \ b o cH
o o o| |oflo|lo 0of Eo o RLI o
EVALIE ° 09 |||l o9 B TH ]
i COMPONENT SIDE GND| ||l |} A e 2]l
A 000 3(C3lb 0 0 o4 RLIM
MICROUTECHNOLOGY Jooo S o oo o0
SPARE SPARE GND -IN +IN = +Vs o o
© 9] o 9 (s} o C o o o o o o ODUTPUTO o
O — O



User
新建印章


B 4% 4 # 4 886-3-5753170
EK14 B4 ) (L) 86-21-54151736 EVALUATION KIT
J: 4% 1 LT (3 8I) 86-755-83298787 FOR SIPO3 PIN-OUT

Http://www. 100y. com. tw

HEATSINK
/ HS20

6-32 NUT
,— AMPLIFIER
THERMAL

WASHER

— MS06
SOCKET

6-32 X | SPACER

OPTIONAL
/ D
EVALUATION
PC BOARD
6-32 x 1/2 SCREW
o/

6-32 X 3/8 SELF-TAPPING SCREW

2 PLCS \/®
NOTE: FASTENERS NOT INCLUDED

FIGURE 1.

This data sheet has been carefully checked and is believed to be reliable, however, no responsibility is assumed for possible inaccuracies or omissions. All specifications are subject to change without notice.

2 EK14U REV. A DECEMBER 1998 © 1998 Apex Microtechnology Corp.


User
新建印章

User
新建印章


